



*Proof.* One starts with Eq. (1), p. 96, of [2], written in the form

$$q_i h_i \lambda_{i-1} + 2h_i \lambda_i + p_i h_i \lambda_{i+1} = 3p_i h_i h_{i+1}^{-1} (f_{i+1} - f_i) + 3q_i (f_i - f_{i-1}). \tag{A}$$

Denote the right member of this equation by  $r_i$ , and set  $\mu_i = h_i \lambda_i$ . In the notation, the dependence upon  $n$  is suppressed. Equation (A) becomes

$$q_i h_i h_{i-1}^{-1} \mu_{i-1} + 2\mu_i + p_i h_i h_{i+1}^{-1} \mu_{i+1} = r_i. \tag{B}$$

Now refer to Eq. (2), p. 97, of [2]. Let  $\|f\| \leq 1$  and  $s = Lf$ . Then on the interval  $[x_{i-1}, x_i]$ , we have

$$\begin{aligned} |s(x)| &\leq |A_i(x)| + |B_i(x)| + |\lambda_{i-1}| |C_i(x)| + |\lambda_i| |D_i(x)| \\ &= 1 + |\mu_{i-1}| \frac{h_i}{h_{i-1}} \frac{C_i(x)}{h_i} - |\mu_i| \frac{D_i(x)}{h_i} \\ &\leq 1 + \max\{m |\mu_{i-1}|, |\mu_i|\} \frac{C_i(x) - D_i(x)}{h_i} \\ &\leq 1 + \frac{1}{4} \max\{m |\mu_{i-1}|, |\mu_i|\} \\ &\leq 1 + \frac{m}{4} \max_{1 \leq i \leq n} |\mu_i|. \end{aligned}$$

Let  $|\mu_j| = \max |\mu_i|$ . From Eq. (B) we have

$$2 |\mu_j| \leq |r_j| + q_j m |\mu_j| + p_j m |\mu_j| = |r_j| + m |\mu_j|.$$

Hence,

$$\max_{1 \leq i \leq n} |\mu_i| \leq |r_j| (2 - m)^{-1}.$$

Since  $\|f\| \leq 1$ , we have  $|r_j| \leq 6p_j m + 6q_j \leq 6m$ . Thus,  $\max |\mu_i| \leq 6m(2 - m)^{-1}$ . From an inequality above we, therefore, obtain

$$|s(x)| \leq 1 + \frac{3}{2} m^2 (2 - m)^{-1} < 6(2 - m)^{-1}.$$

This establishes the asserted bound on  $\|L_n\|$ . Now let  $f$  be any element of  $C$  and let  $s$  be its best approximation in  $S_n$ . Meir and Sharma, improving upon results in [2], have shown in [1] that  $\|f - s\| \leq 5\omega(f; h)$ . Consequently,

$$\begin{aligned} \|f - Lf\| &= \|(f - s) - L(f - s)\| \\ &= \|(I - L)(f - s)\| \\ &\leq \|I - L\| \|f - s\| \\ &\leq (1 + \|L\|) \|f - s\| \\ &\leq [2 + \frac{3}{2} m^2 (2 - m)^{-1}] 5\omega(f; h) \\ &\leq 30(2 - m)^{-1} \omega(f; h). \end{aligned}$$

These results emphasize what was pointed out in [2], namely, that the convergence depends not on the boundedness of  $K_n = \max_i h_i^{(n)} / \min_i h_i^{(n)}$  but upon the magnitude of  $m_n = \max_{|i-j|=1} h_i^{(n)} / h_j^{(n)}$ .

**CONJECTURE.** In order that  $L_n f \rightarrow f$  for all  $f \in C$ , it is necessary that  $\limsup m_n < 2$ .

## REFERENCES

1. A. MEIR AND A. SHARMA, On uniform approximation by cubic splines, *J. Approximation Theory* **2** (1969), 270–274.
2. E. W. CHENEY AND F. SCHURER, A note on the operators arising in spline approximation, *J. Approximation theory* **1** (1968), 94–102.

E. W. CHENEY\*

*Department of Mathematics,  
Michigan State University,  
East Lansing, Michigan 48823*

F. SCHURER

*Technological University Eindhoven,  
Eindhoven, The Netherlands*

Received October 3, 1969

\* The first author was supported by the Air Force Office of Scientific Research.